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A e & A 285,404 348,825 63,421 22.2 M & & A 285,404 348,825 63,421 22.2
e | Al 2A 33,620 31,260 -2,360 -7.0] AtRH| A 215,669 264,652 48,983 22.7
ULH| 4 31,920 29,760 -2,160 -6.8 olzdy| A 192,452 241,133 48,681 25.3
D25 1,700 1,500 -200 -11.8 =09 126,354 159,853 33,499 26.5
HxZ HxZ
20l 20l A 227,676 290,473 62,797 27.6 NI E= 33,786 43,492 9,706 28.7
T = Bz A
AEEEZ 13,000 13,000 0 0.0 g5z 14,891 17,045 2,155 14.5
AR E=F 195,146 263,973 68,827 35.3 Ats| Y REF 17,321 19,742 2,421 14.0
JIEtE =2 19,530 13,500 -6,030 -30.9 7|Et= M AH| 100 1,000 900 900.0
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a0l a0l A 16,000 16,000 0 0.0 A 600 600 0 0.0
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HIXE =2 = 6,000 6,000 0 0.0 A 22,617 22,919 302 1.3
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7 EtE 50 50 0 0.0 7|Ef2Hy| 1,000 1,300 300 30.0
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AlMH| | 21,300 18,500 -2,800 -13.1
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Abedd| 2 48,343 65,581 17,238 35.7
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